c. high in trans-fatty acids and lowin s
d. high in trans-fatty acids and high in saturated faily acids.
e. low in {rans-faity acids and low in unsaturated fatly acids

Lad

A glycosidic bond would be present in:

a. B-D-galactosamine.

b. me@hylm@—D—giumside

c. 2-deoxy-o-D-ribose.

d. B-D-glucose-6-phosphate.

€. o-D-fructose-1, 6-bisphosphate

k
v

ol
;..9
(¢

@]
2]
;3
i‘W

Because osmotic pressure depends only on

reduced by formation of polysacchari

a. molecular weight
b. number of hydroxyl groups
c. numbers of molecules

d."  numbers of hydrogen bonds
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Tntermolecular hydrogen bonds play a major role in stabilization

o

2. all are true.
‘Mmm we say that biclogical membranes are asyrmm an that:
a. ‘The lipids are not evenly distributed transverse 1y in the membrane.
b. The proteins are not evenly distributed over the surface of the membrane,
c. Patches of cholesterol and other lipids occur on the surface of the e membrane.
d. Certain membrane proteins seem to prefer association with specific lipids.
e. All are true

g a. binding E; to change ccm:}fma.u@ to By and release of K.
b. binding B to facilitate binding of Na'.
c transferring a phosphate group to make sodium phosphate
d. hydrolysis to ADP and E;-P.
e. none of the above.

between tightly packed amino acid side chains in the interior of the

protein are a major contribution to protein structure.

" a. Hydrogen bonds
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A g a. have the greatest degres o
|
!
’: b the sterically allowed 1o otational angles between R gioups and o-carbons i1 a
peptide
c the sterically allowed rotational angles between Cq and the amide mrogen
‘_ (Co-N) as well as bet reen O, and the amide car bumf; zarbon (C-CO).
! d. the sterically allowed rotational angles about the amide nitrogen (MNH) and
| 0
|
f . , .
€. the amino acid residues that form a-helix, B-sheet, eic
. 11. Tertiary structure of proteins depends on all EXCEPT
a. protein structure depends on primary structure.
‘, b.
c. secondary structures form whensver possible.
d. peptide segme: s between secondary structures are short.
z €. proteins are stable as 2 single-layer structure.
' 12. Which statement is correct about the B—o—B motif?
a. The two B-strands are antiparellel.
b. The peptide segment ¢ connecting the B-strands usually coniains no more than
five amino acids.
c. The peptide segment COMNNE ecting the two P-strands corama oy contains
proline.
| d. The cross-over connection itself con tains an o-helical segment.
|
‘ €. none are correct.

13. Protein isolation and purification include all of the techniques EXCEPT:
a. gas-liquid chromatography.

b. on exchange chromatography.




14, Bdman degradation will:

ine the C-terminal am

a. deten

b cleave the protein intc a mul

C compare overlapping sets

d. determine the N-terminal amino acid,

e. . generate two different, but overlapping sets of

T o 2 ‘< o e % £ o
ijhe gﬁty !eﬂf@zﬁ‘;‘]ﬁ}f 18 an exampie 01 d L)

4. - enzyme.
b. regulatory protein

transport proteii.

o

g:h

storage protein.

. e. structural protein.

|

| .16, Nucleosides are re elatively stable o  hydrolysis, and pyrimidine 1
i

i

fo _ __hydrolysis, but purine nucleotides are unstable to

3 base; acid; acid
| b, . base; base; acid
c. acid; base; base
d. acid; acid; base

none are true

@

17. What is the nucleotide sequence of the DNA strand that is complernentary

“'—ATLC CAACTGTCACTA-3'?
a. 5 TAGCGTTGACAGTGAT-S
b. 5. UAGUGACAGUUGCGAU-3"
c. 5.TAGCGTTGACAGTGAT-3'
d. 5. TAGTGACAGTTGCGAT-3'

e. 5. ATCACTGTCAACGCTA-3'

18. Individual amino acids are attached to their corresponding tRINAs:

= nuclectides are stable

hydrolysis.

v 10
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21. Entropy change, AS, is
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24.

23.

reaciion?

L TR gy Fihe raapis
a. They rais [ the reactants.
1 T L. e e T s Ta i b
b. They provide a means of acceleration by being ¢o
reaction
T Ax ‘i
c. They lower
- S G P & =
d. They lower the
L o o g £
£. They raiss

HT\/ 1 protease is different from mW00st m ammalian aspariic acid proteases in that it has:

a. two subunits eac 1 5 two-aspartate active site
b. - two subunits each contributing an as
. two active sites on one protein.
d. wo subumits, one with an active site, and the other v vith a regulatory activity.
e none of the above.
The function of gm: ogen phosphorylase is:
a. the conversion of glucose-1-phosphate to glucose-6-phosphate.
b. 0 break down ATP.
c. to catalyze the phosphorolysis of glucose-1-phosphate from glycoge
molecules.
d. to inhibit the production of glucose-1-phosphate.
e. 1o stimulate the build up of glycogen.

'B. (25 %) Answer the following questions.

frmned

?\_)

List one basic property that distinguishies RN

property they share.
Describe and contrast positive regulation and negative regulation of gene expression.
What is the essential difference between a genomic li bmry and a cDNA library?

The template strand of a segment of double-stranded DNA contains the sequence:
(5°) CTT TGA TAA GGATAG CCC TTC
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5. Po}jymerase @ha‘iu eaction or PCR is a in vitro technigue used to amplify specific sequences of
DINA. It consists of repeated cycles of a three-step process.

What are the three steps that constitute a cycle and what happens during each step?






